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It is xeq` to round out the hair on one’s head. It is xeq` if he
rounded out the whole head, or only the ze`t.

ziviv must be four long strings, which are placed through the
hole in the corner of the cba, thus one has eight strings hanging.
It is xeq` to add a fifth string. Even if two of the eight strings are
cut after the zviv have been knotted, the ziviv are xyk, provided
that both of the strings are not of the same string.

There is a zwelgn as to what constitutes `ziixe`cn fphry. i''yx
holds that unless the wool and linen were smoothed, spun, and
woven together, it is not fphry (i''yx would agree that if any of
these processes was done with wool and linen, the clothing
would be opaxcn fphry). zetqez holds that even if the three steps
were done to the wool and linen by themselves, once they have
been woven together with two stitches, it is `ziixe`cn xeq`. In
general, we are bdep that any garment that has wool and linen
threads tied, woven, or even stuck together, it is(opaxcn) fphry. If
they are in the same garment, but not touching, it is not
considered fphry.


